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QALCOSONIC W1 pressure loss diagrams

(In2) - plotted on a logarithmic scale using the logarithm of the base 2.
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(In10) - plotted on a logarithmic scale using the logarithm of the base 10.
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All: DN15 — DN40
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DN15 - DN20
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Pressure loss Ap, bar

Pressure loss diagram (In2)
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Pressure loss Ap, bar

Pressure loss diagram (In2)
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Pressure loss Ap, bar

Pressure loss diagram (In2)
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Pressure loss Ap, bar

Pressure loss diagram (In2)
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Pressure loss Ap, bar
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All: DN15 — DN40

Pressure loss Ap, bar

Pressure loss diagram (In10)

0,1

DN15, Q3=1,6 m3/h

=DN20, Q3=4 m3/h
=DN25, Q3=6,3 m3/h
DN25, Q3=10 m3/h

0,01

=—=DN32, Q3=6,3 m3/h
DN32, Q3=10 m3/h

== DN40, Q3=10 m3/h
== DN40, Q3=16 m3/h
DN40, Q3=25 m3/h

0,001

0,0001
0,04

Flow, m3/h




-11-

DN15 - DN20
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